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T & TE= F2; g A=A Bt
2010 1271 77 69 75 71 75 73
20109 2%87] 78 74 75 68 77 74
20103 357] 91 95 81 75 85 85
2010 43271 89 88 80 84 87 86
2011 187] 92 80 89 88 88 87
2011 271 88 90 87 90 84 88
2011 371 93 92 89 91 87 90

1) CBI(Contents Business Index)& ZEl=2tjo] A7|Faa A
EUZ A58 sk ZlolH, o= AMgAl T34 o
- CBI9 7|44 2009d 45715 10002 7|5

2 74 AER ATde $UE NES
730l

- CBI 241 93t 7)FAA, AZAACIIE 287], '119d 387), ARJE(mZ £% T2, 18, AFAA
), 74 A=A uek, Suietd, ARt icke, e, SsuE, SulE, wWe-SuE)
- 2 2AIA ARREHE AR WE, $E 2L 38, AFA 5 5/ 820 diE 7d ez ARk

(0-200)



